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QUESTION 1

An administrator is configuring virtual machines to use Worldwide Port Names (WWPNs) to access the storage. Which
two conditions are required? (Choose two.) 

A. The switches in the fabric must be N-Port ID Virtualization aware. 

B. The virtual machines must be using passthrough Raw Disk Mapping (RDMp). 

C. The virtual machines must be using Virtual Machine Disk (VMDK). 

D. The switches in the fabric must be Storage I/O Control aware. 

Correct Answer: AB 

To configure virtual machines to use WWPNs, you have to set N-Port ID virtualization aware setting on the switches in
the fabric and you should also make sure that the virtual machines must be using passthrough raw disk mapping. 

 

QUESTION 2

Refer to the Exhibit. 
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A vSphere 6.x environment is configured with VMware Virtual Volumes (VVOLs). An administrator accesses the cluster
Actions menu, as shown in the Exhibit. Which option is used to create a VVOL on an existing VVOL container? 

A. Storage 

B. Deploy OVF Template 

C. New vApp 

D. Settings 

Correct Answer: A 

A storage container is the storage that is available physically on your storage array. Now I say physically but this could
also be virtually presented storage even on an ESXi host but somewhere somehow it will be back-ended on some
physical medium, be it HDD, SSD or hey, maybe even a super fast memory disk. Basically it\\'s a chunk of physical
storage somewhere. Capacity Pools are logical partitions carved out of these to provide a chunk of storage to your VM
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Admins. Capacity pools may also span multiple storage arrays even across sites. Now you could have a single capacity
pool within your storage container or multiple depending on your requirements if you need some sort of logical
separation for say separate tenants or separate VM admins needing their own separate chunk of storage but just simply
think of it as a chunk of storage presented to your VM admins. 

Reference: http://www.wooditwork.com/2012/10/29/vmware-vvolumes-the-game-changing- future-for-storage-is-
demoed/ 

 

QUESTION 3

Vmware vSphere Replication protects virtual machines from partial or complete site failures by replicating the virtual
machines between which three sites? (Choose three.) 

A. From a source site to a target site. 

B. From within a single site from one cluster to another. 

C. From multiple source sites to a shared remote target site. 

D. From a single source site to multiple remote target sites. 

E. From multiple source sites to multiple remote target sites. 

Correct Answer: ABC 

vSphere Replication replaces storage-based replication. It protects virtual machines from partial or complete site failures
by replicating the virtual machines from a primary site to a secondary site. Reference:
https://pubs.vmware.com/vsphere-51/index.jsp?topic= %2Fcom.vmware.vsphere.replication_admin.doc%2FGUID-
C987AD18-7C2D-4FA6- B6E4-6B0DDA915A7A.html 

 

QUESTION 4

When operating with Distributed Resource Scheduler (DRS) and Distributed Power Management (DPM), what two
statements explain the impact of disabling vSphere High Availability admission control? (Choose two.) 

A. VMware DPM does not place hosts in standby mode if doing so would violate failover requirements. 

B. DRS does not evacuate virtual machines from a host for the purpose of placing it in maintenance or standby modes if
placing the host in this state would violate failover requirements. 

C. DRS will evacuate virtual machines from hosts and places hosts in maintenance or standby modes regardless of the
impact this might have on failover requirements. 

D. VMware DPM will place hosts in standby mode even if doing so violates failover requirements. 

Correct Answer: CD 

 

QUESTION 5

An administrator wants to upgrade to vCenter Server 6.x. 
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The vCenter Server: 

Is hosted on a virtual machine server running Microsoft Windows Server 2008 R2, with 8 vCPUs and 16GB RAM. 

Will have an embedded Platform Services Controller. Hosts a Large Environment with 1,000 ESXi hosts and 10,000
Virtual Machines. 

Why does the vCenter Server not meet the minimum requirements? 

A. Windows Server 2008 R2 is not a supported Operating System for vCenter Server. 

B. The virtual machine has insufficient resources for the environment size. 

C. The environment is too large to be managed by a single vCenter Server. 

D. The Platform Services Controller must be changed to an External deployment. 

Correct Answer: B 

The environment is very big with 1000 ESXi host and 10,000 virtual machines. Therefore, it is not enough and the
vCenter server cannot meet these requirements. 
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